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MASTER OF ARTS (ECONOMICS)
Term-End Examination

I T P December, 2019

MEC-101 : MICROECONOMIC ANALYSIS
Time : 3 hours Maximum Marks : 100

Note : Answer the questions from each section as per
instructions given.

SECTION A

Answer any two questions from this section in about
700 words each. Word limit will not apply in case of
numerical questions. 2x20=40

1. What is Walrasian demand curve ? Discuss its
properties. Do you agree that Walrasian demand
curve can be upward-sloping and untied as
well ? Give reasons for your answer.

2. Given a Cobb-Douglas utility function

a P
1 %97

where x; and xy are the two goods that a

U(xq, x9) = X

consumer consumes at per unit prices of P; and
P, respectively. Assume income of the consumer
to be ¥ M. Determine :

(a) Uncompensated demand functions for
goods x; and Xs.
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(b) Indirect utility function for such a
consumer.

(¢) Compensated demand functions for goods
X7 and Xo.

(a) What is meant by a public good ? Explain
the condition for the efficient provision of
public goods.

(b)  Critically examine the Rawlsian theory of
Justice.

Consider a pure exchange economy of two
individuals (A and B) and two goods (X and Y).
Assume both the individuals are endowed with
2 units of good X and 1 unit of good Y each.

Let utility functions of individual A and B be

X
U, = min{X,, Y4} and UB=min{TB,YB},

where X, and Y; for i = {A, B} represent individual
1’s consumption of good X and Y respectively.

(a) Determine the aggregate excess demand
function for each good.

(b)  Verify Walras’ law.
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SECTION B

Answer any five questions from this section in about

500 words each.

5.
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(a) A firm produces output q using two factor
inputs L and K, such that the production
function is given by q = (L, K). Assume per
unit factor price for L and K to be w and r
respectively. Define the cost minimisation
problem and subsequently wusing the
method of Lagrangian, mention the
expression for conditional factor demand
functions.

(b) Explain Shephard’s lemma.

An individual’'s Von Neumann-Morgenstern
(VNM) expected utility function is given by
M4
1000000 ’
where M denotes money.

UM) = 2M -

(a) Using the above information, comment on
the individual’s attitude towards risk (risk
averse / risk lover / risk neutral).

(b) There are two investment options, X and Y.
In option X, a sum of ¥ 30 is earned with
certainty, while in option Y, probability of
getting a sum of ¥ 50 is %, otherwise ohe
receives T 10. Which one of the given
investment options, X and Y is the
individual likely to choose ?

5x12=60




7. (a)
(b)
8. (a)
(b)
9. (a)
(b)
MEC-101

Distinguish between the problems of
adverse selection and moral hazard

resulting due to asymmetric information.

“The adverse selection problem leads to

market failure.” Comment on this
statement.

Why does a production possibility curve
have a concave shape ?

“Movement along contract curve implies
one agent becomes worse off while the
other gains.” Explain.

A monopolist discriminates between two

markets A and B, facing the respective
demand curves as

qA=16—%PA and
1
=9- — Pg.
aB 20 B

The firm’s total cost function is given by
C(q) = 50 + 40q, where q = g4 + qg is the
total output. Find the profit maximising
quantities sold in both the markets and
also calculate the profits if the firm can
succe’séfully price discriminate.

Derive the elasticity condition required for
the successful implementation of price

discrimination in the two markets.

4

10. (a) Using appropriate diagrams, compare and
contrast the shape of a long-run average
cost curve with that of a short-run average
cost curve.

(b) Discuss the concept of economies and
diseconomies of scale in the context of the

long-run average cost curve.

11. Consider the pay-off matrix of a game given

below :
Player 2
A B C
X (3, 5) (2,2) (2,3
%
2
| Y (2, 2) (0, 4) (4,1)
Z (1,1 1,2) (1,5)
L »

(@) Does any player have a dominant
strategy ? Explain the existence of

dominant strategy equilibrium of this
game.

(b)  Solve for the equilibrium using the iterated
elimination of dominated strategies
method.
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12. Write short notes on any three of the following :

(a) Envelope Theorem

(b) Hotelling’s Lemma

(¢)  First Welfare Theorem

(d) Translog Production Function

(e)  Social Welfare Function
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